Multiply by Positive Powers of Ten (D)

Find each product.

63 X 10% = 46 X 10° =
67 x 10* = 92 x 10% =
77 x 103 = 8 x 10' =
25 x 103 = 35 x 10* =
88 x 10% = 7 X 10% =
14 x 10t = 63 X 10% =
3x10'= 30 x 103 =
98 x 103 = 35 x 10* =
18 x 10° = 4 x 102 =
99 x 103 = 60 x 10% =
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Multiply by Positive Powers of Ten (D) Answers

63 X 10 = 6,300

67 X 10 = 670

77 x 103 =77,000

25 x 10% = 25,000

88 x 10% = 8,800

14 x 10 = 140

3x10'=30

98 x 10° = 98,000

18 x 103 = 18,000

99 x 103 = 99,000

Find each product.

46 x 10° = 46,000

92 x 10%=9,200

8 x 10' =80

35 x 10' =350

7 x 10> =700

63 X 10% = 6,300

30 x 10°* = 30,000

35 x 10' =350

4 x 10% =400

60 x 10% = 6,000
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